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1A L EDABZERIE=220kPa+ ( RHRFFDSTUE-—2.3E) X 1.1kPa
A B C D E F H I P

BE | ATy | RoEE | aAEY B4R | Lass sEe| 1 [BEEE| AR | ERE | BiE%
1A 0 0.20% -2.3 0 0 0 220.0 0
2R 0 0.20% -3.2 (0.9 15 -1.4 -0.5 218.2( -0.8
3R 1.1 0 0.20% -0.5 -0.6 2.6 1.5 3.9 -0.5 221.6 0.7
47 1.7 0 0.20% -3.5 5.5 6.1 15 9.2 -0.5 229.7 44
5H 13.1 0 0.20% —-6.1 11.4 59 15 8.9 -0.5 2345 6.6
6H 17.3 0 0.20% -8.1 16.1 47 15 7.1 -0.5 234.9 6.8
7H 215 0 0.20% -10.0 20.0 3.9 15 5.9 -0.5 232.2 55
8H 23.0 0 0.20% -104 23.6 3.6 1.5 54 -0.5 2271 3.2
9H 18.6 0 0.20% -7.9 20.6 (3.0 1.5 -4.5 -0.5 2116 -3.8
10A 12.3 0 0.20% -4.8 145 6.1) 15 -9.2 -0.5 194.11 -11.8
118 5.6 0 0.20% -2.0 7.9 (6.6) 15 -9.9 -0.5 178.9] -18.7
128 0.0 0 0.20% 0.0 1.6 (6.3) 15 -95 -0.5 167.01 —-24.1

E- 0]  0.20% 00 23] (B9 15 -59| 05| 1606 270
& 9.5 -53.4| -24.3% 0 -6.0 -59.4

REEFTEARARN (C)=(SEADFEHTEA-FRNOEEB) X0. 2% X EXE(P)
ZEREP)=RIOAZESRE (P)-EIA D BARHN (C)-(
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1A EAIDFAEER E=-220kPa+ ( BRFFDRE-—2.3/E) X 1.1kPa
A B C D E F G H I P

B8 | BTy | RosE |asry asR | tassE sax| 1E Bz sk | Z8FE | #E%
18 0 0.20% -23 0 0 0 2200/ O
2R 0 0.20% -32 (0.9) 1.1 -1.0 -0.5 2185 -0.7
3R 1.1 0 0.20% -0.5 -0.6 2.6 1.1 29 -0.5 2209| 04
47 7.7 0 0.20% -35 5.5 6.1 1.1 6.7 -0.5 226.6| 3.0
58 13.1 0 0.20% -6.0 11.4 5.9 1.1 6.5 -0.5 229.1| 41
68 17.3 0 0.20% -7.9 16.1 47 1.1 5.2 -0.5 2278| 35
78 215 0 0.20% -9.6 20.0 39 1.1 4.3 -0.5 2237 1.7
8A 230 0 0.20%| -10.0 23.6 3.6 1.1 40 -0.5 2175 -1.1
98 18.6 0 0.20% -7.6 20.6 (3.0) 1.1 -3.3 -0.5 203.7| -74
108 12.3 0 0.20% -46 145 (6.1) 1.1 -6.7 -0.5 188.9| -14.1
118 5.6 0 0.20% -2.0 7.9 (6.6) 1.1 -7.3 -05 176.5| -19.8
128 0.0 0 0.20% 0.0 1.6 (6.3) 1.1 -6.9 -0.5 167.1| -24.0
E- 0 0.20% 0.0 -2.3 (3.9) 1.1 -43 -0.5 162.3| -26.2
= 9.5 -51.7| -23.5% 0 -6.0 -57.7
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RZR1EIZKDR/N : -0.5kPa B BHEE=1.0kPa

17ADBERBN=-5E1°CTO. 20%TEtEL-EE
BARRNEOEE=5COEE

HHEDER (KERETEAZER) X1 E=H1 SkPaTEHE LI5S
18 L AIDFRAEZERE=220kPa+ (RFEFRFDTUR—2.3E) X 1.1kPa
A B o D E F G H 1 P
BB | B¥Y |RORE |[BARE| BAR | LAKRE [EE| 1B |R[EEXE SRR | ZEXE | BEH%
5/ 0.20% -2.3 0 0 of 2200/ O
5 -32| (0.9 15 -14| -05| 2182| -08
5/ 0.20% -0.6 2.6 15 39| -05 2216 07
5/ 0204 12 55 6.1 15 92| -05| 2302 46
58 13.1 5/  020% -38 11.4 5.9 15 89| -05| 2373 79
68 173 5/  020% -59 16.1 47 15 71| -05|  2400| 9.1
78 215 5/  020% -79 20.0 3.9 15 59| -05| 2395 88
8H 230 5/ 020% -85 23.6 3.6 15 54| -05| 2365 75
98 186 5/  020% 6.1 206 (3.0 15 -45| -05| 2229 13
108 123 5/ 020% -30 145| (6.1 15 -92| -05| 207.2| -58
118 5.6 5/ 020% -02 79| (66 15 -99| -05| 1938 -11.9
127 5| o20s] 0000 16| 63 15| -95] 05| 1836 -165
18 5/ 0.20% 0.0 -23| (39 15 -59|  -05| 177.3| -19.4
F 9.5 -36.7| -16.7% 0 -6.0 -42.7
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17 BDBARN-KIE1°CTO. 2% THELEE
BRARNERRE=5TCDHE
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1A LA DFRBEZERIE=220kPa+ (RIRFFD KUR——2.3/E) X 1.1kPa
A B c D E F G H I P
AH | A¥H | RORE | BERARY| BRR | LAXKE SaE | 1B |[SEHEE| <RkE | ZXE | BE%
5| 0.20% 2.3 0 0 o 2200 o0
5 0.20% 32| (0.9 11 -10| 05|  2185] -07
5| 0.20% 06| 26| 11 29| -05| 2209| 04
5| 020% 1.2 55| 6.1 1.1 67| -05| 2271| 32
5H 13.1 5| 020% -38]  114] 59| 1.1 65 -05| 2318] 54
6A 17.3 5|  020% 57|  161] 47| 11 52| -05| 2328| 58
;i 215 5| 020% -76] 200] 39| 1.1 43| 05| 2308| 4.9
8H 230 5|  020% -82| 236 36| 1.1 40  -05| 2267] 30
9A 18.6 5|  020% 58] 206 (30| 1.1 33| 05|  2147| -24
10 12.3 5| 0204 29| 145 (6D 11 67| 05| 201.7] -83
115 5| 020% 02 79 (66 11 73| -05|  191.0] -132
127 5| o20s] 0000 16| 63 11| 69| -os| 1833 -167
1A 5| o020 00 -23] 9| 11 43| 05| 1785 -18.9
F -355[ —16.1% of -60] -415
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BB | B¥EY | ROEE |BA®KE| 200 210[ 220 230 240[ 250[ 260[ 270 280[ 290[ 300
18 0 0.20%

2H 0 0.20%

3H 1.1 0 020%| 04| o5/ o5 o5 o5 o6/ 06/ 06/ 06/ 06| 07
48 7.7 0 0.20% 31| 32| 34 35/ 37 39| 40| 42| 43| 45| 46
58 13.1 0 020% 52| 55 58 60/ 63 66| 68 71| 73] 76 79
6H 17.3 0 020% 69| 73] 76| 80| 83 87/ 90f 93] 9.7 100| 104
7R 215 0 0.20% 86| 90| 95 99| 103 108| 112 11.6| 120 125 129
8H 23.0 0 020% 92| 97 101 106 110 115 120 124| 129| 13.3| 138
9H 18.6 0 0.20% 74| 78| 82 86| 89| 93] 9.7 100| 104| 108 11.2
108 12.3 0 020% 49| 52| 54 57| 59/ 62| 64/ 66| 69 71| 74
118 5.6 0 0.20% 22| 24| 25 26|/ 27 28/ 29/ 30 31| 32| 34
128 0 0.20%

F 95 -48.1| -50.5 -52.9| -55.3 -57.7| -60.1| -62.5| —64.9| -67.3| —69.7| -72.1

17 ADBRARN=-RE
BRARNEOERE=-5CDEHE

1°CT0. 20% CitE

AB | A¥Y | ROERE

5

5

5

5( 020% 11| 11| 12| 12| 13| 14/ 14 15 15 16| 1.6
5H 13.1 5|  020% 32| 34| 36| 37| 39 41| 42 44 45 47 49
68 17.3 5| 020% 49 52 54/ 57 59/ 62 64 66 69 71 74
7H 215 5| 020% 66| 69/ 73 76 79/ 83 86 89 92 96/ 99
8H 23.0 5 020% 72| 76| 79| 83| 86| 90[ 94 97 101 104 108
98 18.6 5 0.20% 54| 57| 60 63| 65 68 71| 73 76/ 79[ 82
10R8 12.3 5| 020% 29[ 31| 32 34 35 37 38 39 41 42| 44
1A 5.6 5| 020% 02| o03f 03 03 03 03 03 03 03 03 04
F 9.5 -31.6| -33.2| -34.8| -36.4| —-38.0| —39.6| —41.1| —42.7| -44.3| -45.9| -475
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15BOBEARRBN-R;E21°CTO. 18%TEtE
BARRNEOEE=0COFE

BB | BEY | ROEE |BARKE| 200 210[ 220 230 240[ 250[ 260[ 270 280[ 290[ 300
18 0 0.18%
2H 0 0.18%
3H 1.1 0 0.18%
4K 7.7 0 0.18%
58 13.1 0 0.18%
6H 17.3 0 0.18%
7R 215 0 0.18% 7.7 81| 85 89| 93| 97| 101| 104| 108| 11.2[ 116
8H 23.0 0 0.18%| 83| 87 91 95 99 104 108 112 116 120| 124
9H 18.6 0 0.18% 67| 70| 74 77| 80| 84| 87 90| 94 97| 100
10AR 12.3 0 0.18%
118 5.6 0 0.18%
128 0 0.18%
F 95 -43.3| -45.4| -47.6| -49.8| -51.9] -54.1| -56.3| -58.4| -60.6| —62.7| —64.9

15BOBEARBN=-KB1°CTO. 22% Tit&
BRRhEOEE=-5COIEE

AH | AT | RORE |[BARH

5 0.22%

5 0.22%

5 0.22%

5 022% 12| 12| 13| 14| 14/ 15 15 16| 171 17 18
58 13.1 5 022% 36| 37| 39 41| 43| 45 46| 48 50/ 52 53
6A 17.3 5 0.22%| 54| 57/ 60| 62| 65| 68 70 73 76/ 78 81
78 215 5 022% 73| 76| 8o 83 87 9.1 94 98 102[ 105 109
8A 23.0 5 0.22% 79| 83 87 91 95 99 103[ 107 11.1| 115 119
98 18.6 5 0.22%
10H 12.3 5 0.22%
11H 5.6 5 0.22%
128 5 0.22%

&F 9.5 —-34.8| -36.5| —38.3| —40.0| —41.8| -43.5| -45.2| -47.0| —48.7| -50.5| -52.2




